8.

9.

Write down the answer to :-
a 430x10
e 270+10

Find :-

a

e

145 x 30
h40 + 60

b 367 x 1000
f 23900+ 100

b 74 x200
f 23800+ 700

g

458 x 100 d
7804000 =100 h
599 x 500 d

7804800 - 900 h

6000 x 1000
7 102 000 = 1000.

123 x 8000
7 160000 + 4000.



. I flew from Aberdeen to New York, a distance of 3280 miles
and then on to Los Angeles, a further 2448 miles.

a  How far did I travel in total ? Z4 . Los Angeles

Airport
b How much longer was the first journey ?
. When a number is multiplied by 9 the answer is 78 714.
What is that number ?

700 metres of plastic piping costs £2030 to lay.
600 metres of metal piping is priced £1800 to lay.
a Calculate the cost of one metre of piping for each.

b Which is the cheaper piping to put down ?




